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 m‡e©v”P b¤^i 96 90 92 94 99 97 96 98 97 97  - -  

01 gynv¤§v` hv‡q` 65 64 75 66 80 94 92 91 88 90 805 80.5 gygZvh  
02 Avãyjøvn wQwÏKx 80 78 71 78 63 87 80 91 96 88 812 81.2 gygZvh  
03 ivKxeyj Bmjvg 21 15 25 40 67 65 60 84 80 93 550 55 ivwme  
04 nvexeyi ingvb 77 72 64 60 71 75 75 88 90 90 762 76.2 Rv.wR  
05 g~mv Beivnxg 81 57 74 68 66 88 90 78 89 85 776 77.6 Rv.wR  
06 myjvBgvb 71 63 89 60 54 93 78 92 85 86 771 77.1 Rv.wR  
07 Bnmvby¾vgvb 88 90 92 82 74 95 88 90 96 90 885 88.5 gygZvh  
08 kvdvAvZ ûmvBb 96 83 91 94 99 97 95 98 97 97 947 94.7 gygZvh 1g  
09 gvn`x nvmvb 75 75 86 90 95 96 90 94 95 96 892 89.2 gygZvh 3q 
10 Ave~ mv‡jn bvmxg 54 30 44 40 60 88 70 90 83 80 639 63.9 Rvwq¨`  
11 mvÕ` ikx` 82 83 87 80 95 94 96 97 88 92 894 89.4 gygZvh 2q  
12 gvng~`yj nvmvb 29 28 47 40 70 70 75 92 82 75 608 60.8 Rvwq¨`  
13 ZixKzj Bmjvg 35 42 38 45 50 88 65 89 90 80 622 62.2 Rvwq¨`  
14 Lvwj` mvBdzjøvn 90 85 79 68 81 89 82 96 90 95 855 85.5 gygZvh  
15 Avãyjøvn Avj-gvmD` 58 35 80 50 60 82 75 93 89 75 697 69.7 Rv.wR  

`dZ‡i ZvÕjxgvZ 

gvb eÈb: 
†gvU b¤^i  :  10010 = 1000 
gygZvh  :  8010 = 800 
Rvwq¨` wRÏvb :  6510 = 650 
Rvwq¨`  :  5010 = 500 
gKe~j  :  3510 = 350 
 


